Unified Engineering II

Spring 2007

Problem S8 Solution (Signals and Systems)

1. $g(t) = \begin{cases} te^{-at}, & t \ge 0\\ 0, & t < 0 \end{cases}$

Therefore,

$$G(s) = \int_0^\infty t e^{-at} e^{-st} \, dt$$

Integrate by parts to obtain

$$G(s) = -\frac{t}{s+a}e^{-(a+s)t}\Big|_{t=0}^{\infty} + \frac{1}{s+a}\int_{0}^{\infty}e^{-at}e^{-st}\,dt$$

If $\operatorname{Re}[s] > -a$, then the first term evaluates to 0; otherwise, it is undefined. The integral is just the LT of $e^{-at}\sigma(t)$. Therefore,

$$G(s) = \frac{1}{s+a} \int_0^\infty e^{-at} e^{-st} dt$$
$$= \frac{1}{(s+a)^2}, \qquad \operatorname{Re}[s] > -a$$

2. $g(t) = \begin{cases} t^2 e^{-at}, & t \ge 0\\ 0, & t < 0 \end{cases}$

Integrate by parts twice to obtain

$$G(s) = \frac{2}{(s+a)^3}, \qquad \operatorname{Re}[s] > -a$$

3. $g(t) = \begin{cases} t^n e^{-at}, & t \ge 0\\ 0, & t < 0 \end{cases}$, where *n* is a positive integer.

In general,

$$G(s) = \frac{n!}{(s+a)^{n+1}}, \qquad \operatorname{Re}[s] > -a$$

Unified Engineering II

Spring 2007

Problem S7 Solution (Signals and Systems)

1.



We can use impedance methods to solve for Y(s) in terms of U(s). Label ground and E_1 as shown. Then KCL at E_1 yields

$$Cs(E_1 - 0) + \left(Cs + \frac{1}{R}\right)(E_1 - U) = 0$$

Simplifying, we have

$$\left(2Cs + \frac{1}{R}\right)E_1 = \left(Cs + \frac{1}{R}\right)U$$

Since we are finding the step response,

$$U(s) = \frac{1}{s}, \qquad \operatorname{Re}[s] > 0$$

Plugging in numbers, we have

$$(0.2s + 0.5)E_1(s) = (0.1s + 0.5)\frac{1}{s}$$

Solving for E_1 , we have

$$E_1(s) = \frac{0.1s + 0.5}{(0.2s + 0.5)s} = \frac{0.5s + 2.5}{s(s + 2.5)}$$

The region of convergence must be $\operatorname{Re}[s] > 0$, since the step response is causal, and the pole at s = 0 is the rightmost pole. Using partial fraction expansions,

$$E_1(s) = \frac{1}{s} - \frac{0.5}{s+2.5}$$

Therefore, $g_s(t) = y(t) = e_1(t)$ is the inverse transform of $E_1(t)$, so

$$y(t) = (1 - 0.5e^{-2.5t}) \sigma(t)$$

The step response is plotted below:



Normal differential equation methods are difficult to apply, because we cannot apply the normal initial condition that $e_1(0) = 0$. This is because the chain of capacitors running from the voltage source to ground causes there to be an impulse of current at time t = 0, and the voltages across the capacitors change instantaneously at t = 0. It is possible to use differential equation methods, we just have to be more careful about the initial conditions. However, Laplace methods are easier.



Again, use impedance methods, using the node labelling above. Then the node equations are

$$(C_1s + G_1)E_1 - C_1sE_2 = G_1U -C_1sE_1 + [(C_1 + C_2)s + G_2]E_2 = 0$$

where G = 1/R. We can use Cramer's rule to solve for E_2 :

$$E_{2}(s) = \frac{\begin{vmatrix} C_{1}s + G_{1} & G_{1}U(s) \\ -C_{1}s & 0 \end{vmatrix}}{\begin{vmatrix} C_{1}s + G_{1} & -C_{1}s \\ -C_{1}s & (C_{1} + C_{2})s + G_{2} \end{vmatrix}}$$
$$= \frac{G_{1}C_{1}s}{C_{1}C_{2}s^{2} + (G_{1}C_{1} + G_{1}C_{2} + G_{2}C_{1})s + G_{1}G_{2}}U(s)$$

Since we are finding the step response,

$$U(s) = \frac{1}{s}, \qquad \operatorname{Re}[s] > 0$$

Plugging in numbers, we have

$$Y(s) = E_2(s) = \frac{0.1s}{0.06s^2 + 0.35s + 0.25} \frac{1}{s} = \frac{5/3}{s^2 + 5.833\overline{3}s + 4.166\overline{6}}$$

In order to find y(t), we must expand Y(s) in a partial fraction expansion. To do so, we must factor the denominator, using either numerical techniques or the quadratic formula. The result is

$$s^{2} + 5.833\overline{3}s + 4.166\overline{6} = (s+5)(s+0.833\overline{3})$$

We can use the coverup method to factor Y(s), so that

$$Y(s) = \frac{5/3}{(s+5)(s+0.833\overline{3})} = \frac{-0.4}{s+5} + \frac{0.4}{s+0.833\overline{3}}$$

The region of convergence must be $\text{Re}[s] > -0.833\overline{3}$, since the step response is causal, and the r.o.c. is to the right of the right-most pole. Therefore, the step response is given by the inverse transform of Y(s), so that

$$g_s(t) = \left(-0.4e^{-5t} + 0.4e^{-0.833\bar{3}t}\right)\sigma(t)$$

The step response is plotted below:



Unified Engineering II

Spring 2007

Problem S10 Solution (Signals and Systems)

1. Because the numerator is the same order as the denominator, the partial fraction expansion will have a constant term:

$$G(s) = \frac{3s^2 + 3s - 10}{s^2 - 4}$$
$$= \frac{3s^2 + 3s - 10}{(s - 2)(s + 2)}$$
$$= a + \frac{b}{s - 2} + \frac{c}{s + 2}$$

To find a, b, and c, use coverup method:

$$a = G(s)|_{s=\infty} = 3$$

$$b = \frac{3s^2 + 3s - 10}{s+2}\Big|_{s=2} = 2$$

$$c = \frac{3s^2 + 3s - 10}{s-2}\Big|_{s=-2} = 1$$

 So

$$G(s) = 3 + \frac{2}{s-2} + \frac{1}{s+2}, \qquad \text{Re}[s] > 2$$

We can take the inverse LT by simple pattern matching. The result is that

$$g(t) = 3\delta(t) + \left(2e^{2t} + e^{-2t}\right)\sigma(t)$$

2.

$$G(s) = \frac{6s^2 + 26s + 26}{(s+1)(s+2)(s+3)}$$
$$= \frac{a}{s+1} + \frac{b}{s+2} + \frac{c}{s+3}$$

Using partial fraction expansions,

$$a = \frac{6s^2 + 26s + 26}{(s+2)(s+3)}\Big|_{s=-1} = 3$$

$$b = \frac{6s^2 + 26s + 26}{(s+1)(s+3)}\Big|_{s=-2} = 2$$

$$c = \frac{6s^2 + 26s + 26}{(s+1)(s+2)}\Big|_{s=-3} = 1$$

 So

$$G(s) = \frac{3}{s+1} + \frac{2}{s+2} + \frac{1}{s+3}, \qquad \operatorname{Re}[s] > -1$$

The inverse LT is given by

$$(3e^{-t} + 2e^{-2t} + e^{-3t})\sigma(t)$$

3. This one is a little tricky — there is a second order pole at s = -1. So the partial fraction expansion is

$$G(s) = \frac{4s^2 + 11s + 9}{(s+1)^2(s+2)} = \frac{a}{s+1} + \frac{b}{(s+1)^2} + \frac{c}{s+2}$$

We can find b and c by the coverup method:

$$b = \frac{4s^2 + 11s + 9}{s + 2} \Big|_{s=-1} = 2$$
$$c = \frac{4s^2 + 11s + 9}{(s+1)^2} \Big|_{s=-2} = 3$$

 So

$$G(s) = \frac{a}{s+1} + \frac{2}{(s+1)^2} + \frac{3}{s+2}$$

To find a, subtract the second and third terms from above, to obtain

$$\begin{aligned} \frac{a}{s+1} &= G(s) - \frac{2}{(s+1)^2} - \frac{3}{s+2} \\ &= \frac{4s^2 + 11s + 9}{(s+1)^2(s+2)} - \frac{2}{(s+1)^2} - \frac{3}{s+2} \\ &= \frac{4s^2 + 11s + 9 - 2(s+2) - 3(s+1)^2}{(s+1)^2(s+2)} \\ &= \frac{s^2 + 3s + 2}{(s+1)^2(s+2)} \\ &= \frac{1}{(s+1)} \end{aligned}$$

Therefore,

$$G(s) = \frac{1}{s+1} + \frac{2}{(s+1)^2} + \frac{3}{s+2}, \quad \text{Re}[s] > -1$$

The inverse LT is then

$$g(t) = \left(e^{-t} + 2te^{-t} + 3e^{-2t}\right)\sigma(t)$$

4. This problem is similar to above. The partial fraction expansion is

$$G(s) = \frac{4s^3 + 11s^2 + 5s + 2}{s^2(s+1)^2} = \frac{a}{s} + \frac{b}{s^2} + \frac{c}{s+1} + \frac{d}{(s+1)^2}$$

We can find b and d by the coverup method

$$b = \frac{4s^3 + 11s^2 + 5s + 2}{(s+1)^2} \Big|_{s=0} = 2$$
$$d = \frac{4s^3 + 11s^2 + 5s + 2}{s^2} \Big|_{s=-1} = 4$$

 So

$$G(s) = \frac{4s^3 + 11s^2 + 5s + 2}{s^2(s+1)^2} = \frac{a}{s} + \frac{2}{s^2} + \frac{c}{s+1} + \frac{4}{(s+1)^2}$$

To find a and c, subtract both terms from both sides, so that

$$\begin{aligned} \frac{a}{s} + \frac{c}{s+1} &= G(s) - \frac{2}{s^2} - \frac{4}{(s+1)^2} \\ &= \frac{4s^3 + 11s^2 + 5s + 2}{s^2(s+1)^2} - \frac{2}{s^2} - \frac{4}{(s+1)^2} \\ &= \frac{4s^3 + 11s^2 + 5s + 2 - 2(s+1)^2 - 4s^2}{s^2(s+1)^2} \\ &= \frac{4s^3 + 5s^2 + s}{s^2(s+1)^2} = \frac{s(4s+1)(s+1)}{s^2(s+1)^2} \\ &= \frac{4s+1}{s(s+1)} = \frac{1}{s} + \frac{3}{s+1} \end{aligned}$$

 So

$$G(s) = \frac{1}{s} + \frac{2}{s^2} + \frac{3}{s+1} + \frac{4}{(s+1)^2}$$

and

$$g(t) = (1 + 2t + 3e^{-t} + 4te^{-t}) \sigma(t)$$

5. G(s) can be expanded as

$$G(s) = \frac{s^3 + 3s^2 + 9s + 12}{(s^2 + 4)(s^2 + 9)}$$

= $\frac{s^3 + 3s^2 + 9s + 12}{(s + 2j)(s - 2j)(s + 3j)(s - 3j)}$
= $\frac{a}{s + 2j} + \frac{b}{s - 2j} + \frac{c}{s + 3j} + \frac{d}{s - 3j}$

The coefficients can be found by the coverup method:

$$a = \frac{s^3 + 3s^2 + 9s + 12}{(s - 2j)(s + 3j)(s - 3j)} \Big|_{s = -2j} = 0.5$$

$$b = \frac{s^3 + 3s^2 + 9s + 12}{(s + 2j)(s + 3j)(s - 3j)} \Big|_{s = +2j} = 0.5$$

$$c = \frac{s^3 + 3s^2 + 9s + 12}{(s + 2j)(s - 2j)(s - 3j)} \Big|_{s = -3j} = 0.5j$$

$$d = \frac{s^3 + 3s^2 + 9s + 12}{(s + 2j)(s - 2j)(s + 3j)} \Big|_{s = +3j} = -0.5j$$

Therefore

$$G(s) = \frac{0.5}{s+2j} + \frac{0.5}{s-2j} + \frac{0.5j}{s+3j} + \frac{-0.5j}{s-3j}, \qquad \text{Re}[s] > 0$$

and the inverse LT is

$$g(t) = 0.5 \left(e^{-2jt} + e^{2jt} + je^{-3jt} - je^{3jt} \right) \sigma(t)$$

This can be expanded using Euler's formula, which states that

 $e^{ajt} = \cos at + j\sin at$

Applying Euler's formula yields

$$g(t) = (\cos 2t + \sin 2t) \,\sigma(t)$$



UNIFIED ENGINEERING PROBLEM SET-WEEKS Spring, 2006

SOLUTIONS

M. 6. 1 9(x/ First determine the relative magnitude of q(r) is terms of P. weare fiven: $\left|\int_{a}^{3L} g(x) dx\right| = |\mathcal{P}|$ Need a functional expression for q(x). Give it a value of 90 at x=0. It linearly

topen to teroat x = 3L. So:

 $q(x) = \left(\frac{3L-x}{3L}\right) \varphi_0$ (heck: @x=0: q(Q)= g. @x=3L: q_(3L)=0 29(x): - 70=) decreases linearly Vcherk use this in the previour equation! $\int_{-\frac{3}{2}}^{3} \frac{9}{(3L-x)dx} = P$ $\Rightarrow \left| \frac{2^{\circ}}{3L} \left(3L_{X} - \frac{X^{2}}{2} \right) \right|^{3L} = P$ $\Rightarrow \left| \frac{g_{0}}{3} \left(9L^{2} - \frac{9L^{2}}{2} \right) \right| = P$ $\Rightarrow \frac{2}{2} = \frac{3L^2}{2} = \frac{2}{2} \Rightarrow \frac{2}{3L} = \frac{2}{3L}$ $f_{0}: \left| q(x) \right| = \frac{2P}{3L} \left(\frac{3L-x}{3L} \right) = 2P \left(\frac{3L-x}{9L^{2}} \right)$ mufuitde with direction, q(x) is downward, So ! $Q_r(x) = -2P\left(\frac{3L-x}{9/2}\right)$

Page 3 of 24

(a) Drow the free Body Diagram: $q(x) = -2P\left(\frac{3l-x}{ql^2}\right) \phi P$ × 2L-₽ L

use equilibrium! SF=0=>=> +1A=0 $\sum F_{z} = 0 + = V_{A} + V_{B} + P - \int (2P) (\frac{3l-x}{9l^{2}}) dx = 0$ Decultoris integrater to a magnitude of Puith a negative vinction. Su: $V_{A} + V_{B} + P - P = 0 \implies V_{A} + V_{B} = 0$ $\Sigma M_{A} = 0$ (+ =) $V_{B}(2L) + P(3L) - \int_{1}^{3P} \frac{3L-X}{2P(\frac{3L-X}{9L^{2}})} \times dx = 0$ $\Rightarrow V_{lb}(2L) + P(3L) - \frac{2P}{9L^2} \left(\frac{3(x^2 - x^3)}{2} \right)_{1}^{3L} = 0$ =) $V_{13}(2L) + P(3L) - \frac{2P}{9L^2} \left(\frac{\pi L^3}{2} - \frac{\pi 7 L^3}{3}\right) = 0$ $2V_B + 3P = 2P\left(\frac{1}{2}\right) = 0$ A: 2VB=-2P -> VB=-P from Settre VA = - VB = +P

Summonizing, the revision are: $H_{A} = 0$ $V_{A} = +P$ $V_{B} = -P$

b) This needs to be done in parts smethere are point loads (rearkins) along the beam there is no loadly in X FU = Fige 0 for OSKEZL $P(x) = -2P(\frac{3l-x}{9l^2})$ Use $\frac{dS}{dx} = q(x)$ =) $S(x) = -\int 2p(\frac{3(-x)}{9(2)}) dx$ $= -\frac{2P}{9L^{2}} \left(3Lx - \frac{x^{2}}{2} \right) + C,$ We aboundary undition to get the constant of n tegration. Loukot X=0+ V_{A} $f \neq S(0+)$ $\Sigma F_{2} = 0$ $P_{+} = V_{A} = S(0+)$ V_{A} F_{A} $S_{0}(0+) = V_{A} = +P = C_{1} = C_{1} = C_{1} = P$

Page 5 of 24

giving S(x) - 21/9/2 (x2-3Lx) + P Now we dry - S =) $M(x) = \int \left(\frac{2P}{9L^2} \left(\frac{x^2}{2} - 3Lx\right) + P \int dx\right)$ $= \frac{2P}{9/2} \left(\frac{x^3}{6} - \frac{3}{2} \left(x^2 \right) + P_x + C_2 \right)$ Afan, we about dang condition. $(0) \times = 0 \quad \mathcal{M} = 0 \quad = 0 \quad \mathcal{C}_2 = 0$ Sum maizny: For OSXE2L f(x) = 0 $g(x) = -\frac{zP}{9c^2}(3c-x)$
$$\begin{split} & (f(x) = \frac{2P}{9c^2} \left(\frac{x^2}{2} - 3Lx \right) + P \\ & M(x) = \frac{2P}{9L^2} \left(\frac{x^3}{6} - \frac{3}{2}Lx^2 \right) + Px \end{split}$$

-> Move on to $2L \leq X \leq 3L$ There is still no load yin x, so (F(x) = 0) Virtributed q(x) - - 2p(3(-x)) rover ax = & (x) we again fit: $M = \int g(x) = -\frac{2P}{9/2} (3Lx - \frac{x^2}{2}) + (3Lx) = -\frac{2P}{9/2} (3Lx - \frac{x^2}{2}) + \frac{2P}{9/2} (3Lx - \frac$

but there are different bounding condition in this sector. Go to the tip (x = 3c) and tolea cut firinga "negative" tace." $S(x) = \sum_{i=1}^{n} S(x_{i}) = -p^{2}$ 3L----ussing this in our expression: $J(3L) = -P = -\frac{2P}{9L^2} \left(9L^2 - \frac{9L^2}{2}\right) + C_3$ $\exists -P = -P + C_3 \quad \exists \quad (z = 0)$ $fo: S(x) = \frac{2P}{G_{1,2}} \left(\frac{x^2}{2} - 3(x) \right)$ apointe dM = S(x) ×b(x) ? } = (x) M (= $= \frac{2P}{9(2)} \left(\frac{x^3}{6} - \frac{3}{2} \left(x^2 \right) + C_4$ Some to the tip (x=31) M=0 $O = \mathcal{M}(3l) = \frac{2P}{9l^2} \left(\frac{27L^3}{6} - \frac{27L^3}{2} \right) + C_4$ is supportions . $\Rightarrow 0^2 2P(-L) + C_q \Rightarrow C_q = 2PL$ $fright: M(x) = \frac{2P}{912} \left(\frac{x^3}{6} - \frac{3}{2} Lx^2 \right) + 2PL$

Summarizinf: for 21 < X ≤ 3L F(x) = 0 $F(x) = -\frac{2P}{9L^2}(3L-x)$ $S(x) = \frac{2P}{9L^2} \left(\frac{x^2}{2} - 3Lx \right)$ $M(x) = \frac{2P}{9L^2} \left(\frac{x^3}{6} - \frac{3}{2}Lx^2 \right) + 2PL$

there are no point moments applied, so the solutions for M(x) for the two request off-CK: motbe equal at x=21.

 $\frac{2P}{9L^{2}}\left(\frac{8L^{3}}{6}-\frac{12L^{3}}{2}\right)+2PL \stackrel{?}{=}\frac{2P}{9L^{2}}\left(\frac{8L^{3}}{6}-\frac{12L^{3}}{2}\right)+2PL$ VEJ! $\left(\begin{array}{c} 2P\left(\frac{8L}{54}-\frac{36L}{54}\right)+2PL\\ 2+2\frac{1}{27}PL\\ 7\end{array}\right)$ Non draw mese. In statching use the relations of the deniratives to get ashupe. Calculate end point values to byn And recall that point loads cause equal jumps in shear (account for pupper direction and sign).

F(x): 0 everywhere ... no next plot



the train @ X = L : (c) q(x)= q(2 (31-x) $\frac{1}{1} \xrightarrow{M(L)} F(K)$ ¥5(L) use equilibrium: ~ heek $\Sigma f_{X}^{2} O \xrightarrow{t} \rightarrow F(L)^{2} O$ $\sum F_{2} \rightarrow 0 \quad P \rightarrow P - \int \frac{c_{z}P}{9c^{z}} (3(-x)dx - S(L)) \rightarrow 0$ $\Rightarrow p + \frac{2p}{9c^2} \left(\frac{x^2}{2} - 3Lx \right) \Big]_{-}^{L} = \int (L)$ $50: S(L) = P + \frac{2P}{9L^2} \left(\frac{L^2}{2} - 3L^2\right)$ $=\frac{4}{a}P$ check: $S(x) = \frac{2P}{9L^2} (\frac{x^2}{2} + 3Lx) + P$ => $S(L) = \frac{2P}{9L^2} \left(\frac{L^2}{2} - 3L^2 \right) + P$ = 4 P

 $\frac{f_{nolly}}{2M} = 0 \quad (f =) - PL + \int \frac{2P}{9L^2} (3L - x)(L - x) + M(L) = 0$ * Note: moment and from point L is (L-x) @x=L, moment and -O. PAL

Page 10 of 24

 $\Rightarrow M(L) = PL - \frac{2P}{9l^2} \int_{-}^{L} (3l^2 - 4Lx + x^2) dx$ $= PL - \frac{2P}{9L^2} \left(3L^2 \times -2L \times^2 + \frac{\times^3}{3} \right) \Big]^L$ = PL- 号PL (3-1+当) = PL - = PL (==)= PL (1-=)= = = PL Check: M(x): 2P (x3 - 3 Lx2)+Px $=) M(1) - \frac{2PL}{Q}(\frac{1}{6} - \frac{3}{2}) + PL$ $=\frac{2PL}{Q}\left(-\frac{8}{6}\right)+PL$ $= -\frac{8}{27}PL + PL = \frac{19}{27}PL$

ALL CHARK



(a) First draw on FBD (Free Body Diagram):



Use equilibrium! $\Sigma f_x : 0 \xrightarrow{J} \Longrightarrow H_A : 0$ $\Sigma F_{2} \rightarrow 0 \quad \P + \implies V_{A} + V_{B} - P = 0$ $\sum M_{A} = 0 \ (=) = P(23.5m) + V_{B}(47m) = 0$ $\implies V_B = P/2$

use aprenious $\Rightarrow V_A = P_2$

this makes sense some Kresse's contiguestion is symmetric, so the reactions should De vymmetric. Jummen zig $H_{A} = 0$ $V_{A} = P/2$ $V_{3} = P/2$

(b) we will analy ze this in those time: "prior to the load (x<0) and affer the load (x>0) [on each side of the center of the tront tace).

As we art the Kresge arched beam nenote that the reactions have an anguto them since that the reactions have an anguto them since that tangent to the beam is not parallel to the x-axis except at the peak:



No TE: The and axial force and perpendicular and perpendicular and porallel to the cut beam force (90° to its tangent) atony point PAL

The key is to do some gene try and determine the x- and 7. components (via the angle of) and ong point x projected onto the beam :



The tangent line will be perpendicular to the intersection of the voding with the anhabeam. So the angle O is the same as that between the z-axis and the modial line to the point on the Finally thad istonce from the 7-axis to the arched beamporallel to the x-axis is x and is equal . anched beam. to Run O. So: $X = R \operatorname{Fin} \Theta \implies \operatorname{Sin} \Theta = \frac{x}{R}$ $\implies \Theta = \operatorname{Sin} \frac{x}{R}$

Now lookat the beam resulter to:



Now the moment: Take it about the point of out in the Know ge beam so one down not need to worg about F(x) and S(x). The moment arm for the reaction is (x + 23.5m); for the applied load it is x: $EM_{xort} = O((t \Rightarrow -\frac{P}{2}(23.5m+x) + P_{x} + M(x) = 0)$ $Fo:=\frac{P_{x}}{2} + P(11.75m) = M(x)$

If we consider the case for the other side of the center point: -23.5m < x < 0



The mitihing of directions including in the angle will account for many of the changed. However, we need to not doubly account for the negative aspect in using sind since for X<0, sind a and the picture above achually dipicts [cin 0]. Account to this monormore

 $\Sigma F_{x} = 0 \xrightarrow{\pm} = - F_{x} \cos \theta + J(x) \sin \theta = 0$ \Rightarrow $F(x) = S(x) \tan \Theta$

 $\Sigma f_{2} = 0$ $P_{+} \Rightarrow \frac{P}{2} - P + S(x) \cos \theta + f(x) \sin \theta = 0$ $f_{0}: S(x) \cos \theta + S(x) \frac{\sin^{2} \theta}{\cos \theta} = \frac{P}{Z}$ ⇒ S(x)= 2 cog 0

with what we found for F(x): $F(x) = \frac{P}{2} \sin \theta$ account $\sum_{x \in I} = 0 \quad (+ \Rightarrow M(x) + P(-x) - \frac{P}{2}(23.5m - x) = 0)$ $\Rightarrow M(x) = \frac{Px}{2} + P(11.75m)$ funlly?

Summarizing 0<×<23.5m -23,5m<X<0 $F(x) = -\frac{P}{2} \sin \Theta = \frac{-r_x}{r_y}$ $F(x) = \frac{2}{2} \sin \Theta = \frac{Px}{2R}$ $S(x) = -\frac{p}{2}\cos\theta$ $S(x) = \frac{P}{2} \cos \Theta$ $M(x) = -\frac{P_x}{2} + P(11.75m)$ $N(x) = \frac{P_X}{2} + P(11.75m)$

Now draw slatcher



(NOTT: The equations $\frac{dS}{dx} = 2$ and $\frac{dM}{dx} = S$ are not exactly to llowed since one must consider the elegth along the arch for such) RAD



(a) The model is bosically the tree body diafram. There are no reaction forcer since the ming has no external supporter that can carry The lead. NOTE: It is not dynamic because of symmetry (saldnew moment) and SICause of the special and that The integrated lift force equals total plane neight in stable flight

(5) For steady level flight the total lift next be equal to the weight, i.e. $\Sigma F_{2} = 0 \quad q_{+} =) - P + \int_{-y_{1}}^{+y_{2}} q \, dx = 0$ $\Rightarrow q \times]^{+ 42} = P \Rightarrow] q = \frac{P}{C}$

There are no axial forces so F(x) = 0 We have the vectime of the wing: 0<×<42 - 4/2 C X C O There is symmetry so our results should be the same, sut let's be sure: For: 0<x < L/2 q(x)= P/L $uxe: \frac{dS}{\sqrt{x}} = q(x) \Rightarrow S(x) = \int \frac{d}{dx} dx$ $=\frac{PX}{r}+C$ Go to the tip and see s:0 at x > 42 $=)_{S}(4_{2}) = 0 = \frac{p}{2} + c, =) c_{1} = -\frac{p}{2}$ $\Rightarrow S(x) = P(\stackrel{\times}{\leftarrow} - \stackrel{\prime}{\pm})$ profress to " VM = 5 $\Rightarrow M(x) = \int P(\frac{x}{L} - \frac{t}{z}) dx$ $= \frac{P_{X}^{2}}{21} - \frac{P_{X}}{2} + C_{2}$ Again, at the typ: M=0 at x= 4/2 $fo: M(=): 0 = \frac{PL}{8} - \frac{PL}{4} + C_2$

 $\operatorname{Enally}^{:} M(x) : \frac{P}{2} \left(\frac{x}{C} - x + \frac{C}{4} \right)$

Now for: - 42 × CO afain q(x) = E $u_{F} : \frac{\sqrt{5}}{\sqrt{x}} = g(x) \Rightarrow f(x) = \int \frac{\sqrt{6}}{\sqrt{2}} dx$ $= \frac{\gamma x}{L} + C_3$ Go to that tip (x=-4z) where S=0 cal. $S(-4_{z}) = -\frac{P}{z} + C_{3} \implies C_{3} \stackrel{\cdot}{=} + \frac{P}{z}$ $\Rightarrow \int (x) = p(\frac{x}{2} + \frac{z}{2})$ Note that the value must change by the weight Pat the wort $\left(\frac{dS}{dX}(X=0)=-P\right)$ and it loss? and throlly with: an = s(x) =) $M(x) = \int P(\frac{x}{t} + \frac{1}{2}) dx$ $=\frac{P_{x}^{2}}{2}+\frac{P_{x}}{2}+C_{4}$ Again, at this tip (x= -4/2) the mementingero. So: $\mathcal{M}(-\frac{L}{2}) = 0 = \frac{PL}{A} - \frac{PL}{4} + C4$ $\Rightarrow C_4 = \frac{PL}{F}$

recultingin:
$$M(x) = \frac{p}{2}\left(\frac{x^2}{L} + x + \frac{c}{4}\right)$$

$$\begin{aligned} & \int u m m a n \frac{2}{3} \frac{2}{3} \frac{1}{2} \\ & \hat{F}(x) = 0 \quad \text{evenpwhere} \\ & \int (x) = P\left(\frac{x}{c} - \frac{1}{2}\right) \quad 0 < x < \frac{1}{2} \\ & = P\left(\frac{x}{c} + \frac{1}{2}\right) - \frac{1}{2} c x < 0 \\ & M(x) = \frac{2}{2} \left(\frac{x^2}{c} - x + \frac{1}{4}\right) \quad 0 < x < \frac{1}{2} \\ & = \frac{P}{2} \left(\frac{x^2}{c} + x + \frac{1}{4}\right) - \frac{1}{2} c x < 0 \end{aligned}$$





(c) The highest moment is at the wot, so that is the location of greatest loading or in the shear

A common sense inspection of the loading conditions suggests that the ming nillsetoren inthe following manner:



Note also that the load is hand terred at the attachment to the twelage

(forthought) Now have L-> 1.12 what happens? First & decrearer to g = T.T. (still interaction P. but longer length) Jo the shear will be "strung out" but still have the same maximum value of P/2: $S(x) = P\left(\frac{x}{1.1L} - \frac{1}{2}\right) \quad 0 < x < \frac{1.1L}{2}$ $= P\left(\frac{x}{1.1c} + \frac{1}{2}\right) - \frac{1.1}{2}L < x < 0$

The key change comes in the mornert. There are longer moment arms so the maximum moment at the not ~71 increase. Via the equation: $M(x) = \frac{p}{2} \left(\frac{x^2}{1.1c} - x + \frac{1.1L}{4} \right) \quad 0 < x < \frac{1.1}{2L}$ $= \frac{p}{2} \left(\frac{x^{2}}{1.16} + x + \frac{1.16}{4} \right) - \frac{1.1}{2} L \in X \leq 0$

This fires a maximum value of $\mathcal{M}(\mathcal{O}) = \frac{1.1 PL}{8}$ it increases by 10%!